


Slide #9 Function of Stomata

*\What process involves

Guard Cells

What

goes
out?

using CO, and H,0O
releasing O, as a waste
~_ product?

What|

goes
in?

‘Photosynthesis

What is the plant using this

process to make?
*Carbohydrates-glucose

*If the plant needs water for
photosynthesis, why is water
sideaming out of the stoma?



Opening and Closing of Stomata
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K* exits guard cells, and water follows.
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H'out K'in H,0in  Cloutisinduced ooyt K+out H,O out

by the plant
hormone abscisic

acid (ABA)

Guard cells flaccid
Stoma closed

Guard cells turgid
Stoma open
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Stoma opening

Guard cells




